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kms? 1km2izo % 1km2iz> X
B’ % 5,765.85 1,478,625 256.4f R B & 358.29 28,983 80.9
P H 81.45 106,037 1,301.9| & ® W 76.35 10,251 134.3
moH T 157.53 178,325 1,100.3| R B iy 240.74 12,114 59.2
B o#® T 176.96 96,633 546.1 K~ W AW 32.97 3,697 112.1
wo R 166.95 92,683 555.1 0 M| & 8.23 2,921 354.9
2 % ™ 57.39 63,751 1,110.8| % = S 504.82 55,869 110.7

E BT 184,28 61,131 331.7
g B W 126.73 80,511 635.3| % & 0T 37.09 10,127 273.0
& B ™ 128.74 31,126 241.8) = 1 m 21.54 9,364 434.7
X B 55.14 9,185 166.6
E ® W 195.51 32,972 168.6| 78 A % B & 12.53 2,077 165.7

w, 1 ™ 112.97 31,480 278.6
E X T 106,58 30,206 283.4) KR B B ® 168.51 2,345 13.9
BE B 00 247 .04 31,014 125,51 & BB A 18.90 8,574 453.6
g MmN 53.61 7,258 135.4
£ & W 92.54 22,854 2471 B JI & 137.50 6,939 50.4
% B 47.31 10,819 228.7 E &= BB 664.29 92,069 138.6

E B W 33.04 8,703 263.4
A g wm K 12.19 3,342 258.8] E M HF 42,18 11,653 276.3
' - B 12.03 8,056 669.6
g8 #H 243.01 49,885 205.3 /AN 1R HT 11.80 10,972 929.8
X B N 100.78 8,110 80.5

b #%  Hr 88.51 12,583 142.2
B # W 23.73 7,323 1,963.3| B @ # W7 109.78 16,572 150.9
i = 1) 10.16 4,264 419.7| FE B 134,71 15,533 115.3
= H o 3.28 1,333 406.4| 1 i) < 6.41 5,048 787.5
A om N 31.28 6,302 201.5) 1A & ﬁ 47.79 3,317 69.4
H B N 22.69 8,505 374.8] K A i N 65.01 2,805 43.1
BmOR N 63.36 9,575 151 B = 0w 133,80 10,003 74.7
= E 156.84 49,999 318.8| B W £ 255.67 32,317 126.4
i S 1] 41.89 11,473 273.90 4 K HT 23.10 5,169 223.7
b MY 7.91 10,127 1,280.31 B &+ BN 23.79 3,590 150.9
goooB 5.94 5,113 geo.8 M W A 75.88 9,876 130.1
KoOR O 17.98 3,262 181.4] & H 5] 36.73 5,994 163.2
X U #H & 96,17 7,688 79.9

I T | 7.01 7,601 1,084.3
iy & i 10.72 3,744 349.2 & =1 £ 120.53 10,930 90.7

I I 65.39 8,679 132.7
7 Wl il 108.68 9,127 83.9
5 B & 148.75 22,648 152.2| & 1y N 11.85 1,803 152.1
B il 77.90 8,454 108.5| ® E & 179.10 66,803 372.9

= &, N 32.78 6,860 209.3
s o’ N 38.07 7,334 192.6| ® B W 26.35 7,448 282.6
X E£ W 12.76 11,766 967.6
x E B 193.08 41,314 213.9| & B  # 17.51 18,403 1,050.9
I R ] 44.38 17,640 397.5
SIS 1) 19.67 10,482 532.9] K& W AT 78.10 11,546 147.8

= B W 68.42 10,757 157.2
X H N 11.73 4,186 356.8| dt £ & (b) 277.45 36,494 131.5

2 B B K 6.46 1,774 181.7
X2 B W 50.09 5,567 1111 B ing 110.55 16,510 149.3
woOB N 36.71 © 8,548 232.8| 48 i} 20.69 4,205 203.2
#wooo i 146.05 15,779 108.0

I (2) 536.36 101,377 189.0
mrE E O 292.99 36,204 123.5

= mE 68.58 29,250 426.5
H B W 7 4,08 5,888 1,443.1) fp W 1 H 15.58 4,617 296.3
- & W 47.41 11,729 247.4) W 0= i1 76.50 8,577 112.1
=| i il 112.58 15,257 135.5| # M g 112.97 9,360 82.8
[N i) 71.31 13,708 192.2| w0 o& L N 29.73 4,122 138.6
£ B2 0N 207.27 16,907 81.5| TH AKE = &Y 55.23 6,462 117.0
= 78 N 19.30 8,638 4475 #  B & 2.98 3,066 1,028.8
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